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&5 X 4 Er%:n? —Fﬁﬁ“ﬁﬁ‘(a)o)ﬁﬁﬁﬁ 73(:;%?)3 X 4 Tﬁﬁﬁ?é‘é;g;qu ‘(.%.;12‘;& jj(ﬁ?tf)é X 4 ;.é,r'na; J:ﬁ#‘mb\(i)d)tt‘.é.‘ jj(ﬁ?tnn%)é X 4 J:ﬁﬁ;ﬁ\(i)())kt?%‘ _(r%;n? jj(giicﬁé
7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 000 ~ 417 52.16 | =hs | 000 ~ 417|203 10.85 Thlst 1.00 | 6.00 ~ 5.00 52.16 | =hs | 5.00 ~ 6.00| 2.03 10.85
2 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 6.45 81.23 | #nRS | 000 ~ 645 1.78 9.52 Thst 1.00 | 5.00 ~ 7.64 81.23 | #hs | 5,00 ~ 764 1.78 9.52
3 100kN/m%z#z25| 100|000 ~ 012 10176 |3m&EEZB| — ~ — — — | 100kN/mi%#825 | 1.00 | 1056 ~ 1087 101.76 |3m%EEZ5 - ~ — — —
st 1.00 | 012 ~ 791 100.00 | =hist | ooo ~ 791|223 11.91 st 1.00 | 6.00 ~ 1056 100.00 | =hLst | 6.00 ~ 1087|223 11.91
4 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m#%#B 2% — - ~ — — |3ImEBZ D -~ — — —
ZhLst 1.00 | 0.00 ~ 7.69 9857 | =ns | 000 ~ 769|219 11.73 st 1.00 | 6.00 ~ 1028 98.57 | NS | 5,00 ~ 1028| 2.19 11.73
5 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3mZEBZ D -~ — — —
s 1.00 | 0.00 ~ 703 89.21 | #nSt | 0.00 ~ 0.00| 1.69 9.04 st 1.00 | 5.00 ~ 890 89.21 | =hs | 5,00 ~ 890 | 1.69 9.04
P 100kN/mM%EBZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 703 89.21 | #nSt | 000 ~ 0.00| 1.69 9.04 st 1.00 | 6.00 ~ 890 89.21 | =ns | 5,00 ~ 890 | 1.69 9.04
7 100kN/m%E#8z25| 1.00 | 000 ~ 016 10237 |3mE#Ez2| — ~ — — — | 100kN/miZ#825 | 1.00 | 1054 ~ 1097 102.37 |3mZEEZ5 - ~ — — —
Thilst 100016 ~ 795\ 100.00| FhLs | 000 ~ 795| 1.75 9.39 Fhst 1.00 | 6.00 ~ 1054 100.00 | =05 | 6.00 ~ 1097| 1.756 9.39
P 100kN/mMZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 747 95.41 | =nst | 0.oo ~ 000 1.70 9.08 Thist 1.00 | 6.00 ~ 990 95.41 | F=hLS | 5,00 ~ 9.90| 1.70 9.08
9 100kN/m%#82% | 1.00 | 000 ~ 0.24 103.55 |3m&EHEZSH| — ~ — — — | 100kN/m%#BZ% | 1.00 | 1063 ~ 11.30| 108.55 |3m%EiBZ% - ~ — — —
Thilst 100|024 ~ 803\ 100.00| FhLs | 0oo ~ 000| 1.72 9.20 TnLst 1.00 | 5600 ~ 1063 100.00| Fnbs | 5,00 ~ 11.30| 1.72 9.20
10 100kN/m%#82% | 1.00 | 000 ~ 0.04 100.52 |3m&EHEZS| — ~ — — — | 100kN/m%#BZ% | 1.00 | 1054 ~ 1063 100.52 |3m%E#BZ5 - ~ — — —
Thilst 100|004 ~ 782\ 100.00| FThbs |ooo ~ 7.82)| 1.76 9.40 Fhst 1.00 | 6.00 ~ 1054 100.00 | =05t | 6.00 ~ 1063| 1.76 9.40
11 100kN/m%#82% | 1.00 | 000 ~ 0.04 100.52 |3m&EHEZSH| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1054 ~ 1063 100.52 |3m%E#BZ5 - ~ — — —
Thilst 1.00 004 ~ 782 100.00| ThL4S | 000 ~ 782|217 11.60 TnLst 1.00 | 6.00 ~ 1054 100.00| TN | 6.00 ~ 1063 217 11.60
19 100kN/m%#8z2% | 1.00 )| 000 ~ 065 10969 |3mxBz2B| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1064 ~ 1260 109.69 |3m%EiBZ5 - ~ — — —
Thilst 1.00 | 065 ~ 844 100.00 | #hst | 000 ~ 844 212 11.33 TnLst 1.00 | 6.00 ~ 1064| 100.00 | Tndst | 6.00 ~ 1260] 2.12 11.33
13 100kN/MZ#82 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
ThLst 1.00 | 0.00 ~ 6.74 85.11 | =ns | 0oo ~ 6.74)| 1.79 9.60 FhLst 1.00 | 6.00 ~ 820 85.11 | #hLst | 6,00 ~ 820\ 1.79 9.60
14 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EEZ 5 - ~ — — —
ThLst 1.00 | 0.00 ~ 4.54 56.58 | =nst | 0.oo ~ 000\ 1.567 8.40 Fhst 1.00 | 6.00 ~ 56.00 56.68 | =nLS | 5,00 ~ 6.00| 1.567 840
15 100kN/M%#82 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
ZhLst 1.00 | 0.00 ~ 4.53 56.56 | TN | 000 ~ 0.00| 1.57 8.40 ZhLst 1.00 | 6.00 ~ 5.00 56.56 | =nS | 5.00 ~ 56.00)| 1.57 8.40
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ﬁ;‘g TREOBEBOEILHOKRES TERFEDOHBEEILHOKRES TEFEOBBDEILHDOKRES TREOHBESSLIDKRES
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16 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 000 ~ 477 59.41 | FnRS | 000 ~ 4.77| 1.76 9.40 Thlst 1.00 | 6.00 ~ 5.00 59.41 | =hs | 5.00 ~ 6.00| 1.76 9.40
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8% % ~ ImEBAD ~
zhst ~ st ~ st ~ st ~
100kN/mM%{8Z % ~ 3ImERBAD ~ 100kN/ m#%#8% % ~ ImEBAD ~
zhst ~ st ~ st ~ st ~
100kN/mM%E#BZ % ~ 3ImERBAD ~ 100kN/ m#%#8Z% % ~ ImEEAD ~
ZhLst ~ st ~ ZhLst ~ zhnLst ~
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#B% % ~ ImEHBRD ~
zhst ~ zhLst ~ zhLst ~ st ~
100kN/mM%EBZ % ~ ImERBAD ~ 100kN/ m#%#8Z% % ~ ImEEAD ~
zhst ~ st ~ zhLst ~ st ~
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8 % % ~ ImEEAD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhus ~
100kN/mMZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
Thsn ~ ZFnLst ~ ZznLst ~ Zzhus ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ ZznLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




